Economics 101

Answers to Homework #1

Fall 2006

1.


a. Line 1 has a slope of ½ while Line 2 has a slope of -1.

b. Line 1 has a horizontal and vertical intercept of 0, while Line 2 has a horizontal and vertical intercept of 10. 

c. The equation for Line 1 is: Y=1/2X; the equation for Line 2 is Y=10-X.

d. X=6.66, Y=3.33.

2.

a. P   b. N   c. P   d. N

3. 

a. 2 tomatoes

b. 4 tomatoes

c. John has comparative advantage in the production of peppers, while Jane has comparative advantage in the production of tomatoes.

d. John should sell peppers, while Jane should sell tomatoes.

e. For John and Jane the price of one pepper could be any price between 2 and 4 tomatoes. 

4. 

a. E

b. 40 CDs

c. 5/4 DVDs

d. The opportunity cost is increasing as we move along the PPF. This is caused primarily because of specialization of resources. 


























































